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Check-up Time!!

Determine the equation of each of the following lines...

(1) Through (-4,2) and (-3,5) (Express in General Form) 77\( - ;{_ '/' /‘/ = D

Mm=S-2 y=y,=m(x-x,)
e g-5=3(x+3)
\ 5‘5":’-5&"*3
@ O= =3Ix=\ ¥ +5
6 3x—#+lﬂ

(2) Through (-5,-3) and perpendicular to the line 3x - 4y + 8 =0 (Express in slope y-int form)

_ L =-3x-%2
3x+3=4 3
\J“ S, =m(x=Y, %:Z’ 73 >
3 D) -
(61‘% 42?)«-5) 5_7’&1
?m?m@ =2
= Tx-td~9
Yemgreas dom=-t
3 23
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I_|_°ﬂ1°,\*.<:3&
(3) Pﬂgllel to the x-asﬂs'and passing through (7, -2) (Express in General Form)
5[ 4+ =0
M= O 61—11—064—7)
< >
Lt - -
e @Dy
> y— *2=Q

(4) Having the same x-intercept as the line y= - 5x+15 and the same y-intercept as

S ——

the line 3x - 2y + 6 = 0 (Express in slope y-int form) y -~ )( _/_ 3
O="65xtls O -4 =0
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Distance between two points

You can use the Pythagorean

Theorem to get the length of AB

@‘L,“!z)
A(-5, 1)
G
LL """" ( """"" s S s B(3, -3)
S s
LS Y;) (Y:.y,)

B'I s{a.ncsz F;N"\\*lﬂ'
d= \/ (3‘:3 - )z + (J"z -V )2

Review of Operations with Radicals

***Simplifying***

Examples. ..

#1. Use the distance formula to show that the triangle
with vertices A(-3, 1); B(1,7) & C(5, 1) is iscosceles.

c& AD ‘/’(: -1:‘\#,8’.1' ( \6 ‘-—\J S’-

C’ﬁg—_ Gﬂi 1\(\@)& O(B(= })(/-s)"i—(p,)x
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dyse o e Vo3,
—> dﬂﬁ /52




Untitled.notebook December 03, 2014

(4,:\ /_




Untitled.notebook December 03, 2014

#2.Find the distance between A(-2, 1) & B(8, 3)

d =Vﬁ(¥x—¥,\x+ CTe Al
d=\/@- )t G-y
A= Vo~
A= 1oy

#3. Show that the points (5, -1); (2, 8) & (-2, 0) lieona
circle whose center is (2, 3)
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